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Unit 7 Review—Introduction to Quadratic Functions

1.1dentify which table is quadratic and complete the following information about the quadratic

function: (S QAPH (T
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1. Given the equation'y = — 3x% + 1, write the equation of the parabola if Thé graph has been
shifted up 5 units. =
[ 2
2. Given the equationy = 4x — 3, write the equation of The parabola if the lead coefficient
r—_m—m_-‘q"‘”‘“"“m—-:—.

has been doubled.
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3. Compare the gmphs of y=-2x*+1land y=-2x°-
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4 Compare the graph of y = — 2x% to the(
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5. You are trying to throw a ball over a wire that is 30 feet above the ground. The height of the

ball is modeled by the equation y=—16¢" +48¢.

50 T-Height in Fest: a. Approximately how many

% . ‘ seconds will it take to clear the
—{1.5, 36}

0 /’_‘/\ wire? \ S@COV\@
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“ / \ b e b. State the domain and range of
the graph. e < X< 3
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c. At approximately what times
: —h was the ball at 20 feet?
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For #Bfwr'i‘re the equation for the axis of symmetry (AOS), identify the vertex, solutions, y-

intercept, domain, and range. Also identify whether the vertex is a maximum or minimum point.
6. - y=—x"+4 :.:f Q= 7.

AOS2A 7o) X=P

@ xS
"'9, Q\} ( x-int/roots/zeros/solutions: \/O(\'Q"‘

1 M@mﬂ
y-intercept: (OJ o }

Domain:/}R
Range:(]—R 2 S

X-int/roots/zeros/solutions:

y-intercept: (O)L'w
Domain: ’-\_R

Range: \ <
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8. ~ If one of the roots of a pa is (= and the vertex is located at (-1, y ), where
would the other root beXSketch a graph of this parabola > aundk et €NoVF A

——

ﬁg | Root_s: (-3,0) and!( [, O ) (
b
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9. Using the equation, y = 2x" +12x 49,

a. ldentif&a,b,andc.az Qb= /Q CB-:CP

b. Write the equation of the axis of symmetry.
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c. Name the(cociéiinates ogthe vertex.‘ ld _ Zx2+t2><rr g
o )"’q G= 26374 2(-3)+9
d. State the y-intercept.

[0, =1

10. Which of the following equations has exactly one real zero?
a. y=2x"+1 d. y=-x*-5
Mon
(e
“11. ook at each of the graphs below and mark the zeros. Then state the number of zeros
for each graph.
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12. Given f(x)=2x"-3x+2,find f(-4).
Ll 2B +2
Lly=Hb |

13.  Given f(x)=—x>+x-2,find f(5). s
U=~ ( Kz F(S)= T2
U\ 2545 -2

14. Given f(x)=x"-5x~1,find f(-2).
F£(2) =<-’2_3 -5 ("’Z)-—- [

L2y =13
15. What are the x-intercepts of y =—x +8x+9?
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17. What is the vertex of y = 2x +11x +.9 ? Write your answer as an ordered pjii \
b =1l -y 2riirate (= A2
A=zq =2G) "“%1’— Sty “ff{g >
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18. Write the equatiopfor the axis of symmetry of y = 2x* +11x+9.
A\
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19. How do you know if the vertex of a paraboia is a maximum or minimum point?
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20. What is the domain and range of the quadratic parent function?

Domain:(ﬂi_r:E Ranger—\? -?-4- Q




